Figure 6.1
[image: A worksheet shows EMV calculations in excel. The first row of the spreadsheet reads decision 1, decision 2, and decision 3. Decision 1 has five rows and two columns. The column header reads: Payoff/cost; probability and the data for Decision 1 are listed as follows: 
Row 1: payoff/cost, $50,000; Probability, 0.1. 
Row 2: payoff/cost, $10,000; Probability, 0.2. 
Row 3: payoff/cost, negative $5,000; Probability, 0.7. 
Row 4: (no data)
Row 5: EMV, $3,500.
Decision 2 has five rows and two columns. The column header reads: Payoff/cost; probability and the data for Decision 2 are listed as follows: 
Row 1: payoff/cost, $5,000; Probability, 0.6. 
Row 2: payoff/cost, negative $1,000; Probability, 0.4. 
Row 3: (no data)
Row 4: (no data)
Row 5: EMV, $ 2,600. 
Decision 3 has five rows and two columns. The column header reads: Payoff/cost; probability and the data for Decision 3 are listed as follows: 
Row 1:  payoff/cost, $3,000; Probability, 1. 
Row 2: (no data)
Row 3: (no data)
Row 4: (no data)
Row 5: EMV, $3,000.  
]
Figure 6.4
[image: A worksheet shows the model for Acme single stage new product decision. The data are listed as follows: 
The data at the left reads,
Decision 1: Continue development and market the new product 
Fixed cost, 6,000,000; 
Unit margin, $18; 
Decision 1 has five rows and four columns. The column header read as follows: Market; Probability; Sales volume; Net revenue and the data for Decision 1 are listed as follows: 
Row 1: Market: Great; Probability: 0.45; Sales volume: 600, 000; Net revenue: $10,800,000.
Row 2: Market: Fair; Probability: 0.35; Sales volume: 300, 000; Net revenue: $5,400,000.
Row 3: Market: Awful; Probability: 0.20; Sales volume: 90, 000; Net revenue: $1,620,000.
Row 4: (no data)
Row 5: EMV: $1,074,000. 
Decision 2: Stop development and abandon product shows 
No payoffs, no costs, no uncertainty 
EMV, $ 0.

The data at the right reads,
Percentage decrease in all sales volumes, 0 percent; 
EMV for decision 1, $1, 074,000.  
Sensitivity analysis to percentage decrease in all sales volumes has five rows and two columns. The column header reads percentage decrease; EMV for decision 1 and the data are listed as follows: 
Row 1: EMV for decision 1, $1,074,000.
Row 2: percentage decrease, 5 percent; EMV for decision 1, $720,300. 
Row 3: percentage decrease, 10 percent; EMV for decision 1, $366,600. 
Row 4: percentage decrease, 15 percent; EMV for decision 1, $12,900. 
Row 5: percentage decrease, 20 percent; EMV for decision 1, negative $340,800. 
]
Example 6.2
[bookmark: _GoBack][image: 
An illustration shows the decision tree with possible Technological Failure. The Acme multistage new product decisions with technological uncertainty inputs listed as follows: 
Probability of technological success: 0.8; 
Probability of technological failure: 0.2; 
Fixed development cost: negative $4,000,000; 
Fixed marketing cost: negative $2,000,000; 
Unit margin: $ 18. 
The text box at the right reads as the best strategy is to continue development and if there is a technological success, market the product. The EMV from this strategy is $ 59,200. 
The decision tree has three rows and four columns. The column header reads: Market; Probability; Sales volume; Net revenue and the data are listed as follows: 
Row 1: Market: Great; Probability: 0.45; Sales volume: 600,000; Net revenue: $10,800,000. 
Row 2: Market: Fair; Probability: 0.35; Sales volume: 300,000; Net revenue: $5,400,000. 
Row 3: Market: Awful; Probability: 0.20; Sales volume: 90,000; Net revenue: $1,620,000. 
The precision tree starts from new product design leads to the probability node yes, if it is true the cost is negative 4,000,000 leads to technological success? 59,200. If the result is yes, and then leads to the market product? 1,074,000 with the probability 80.0 percent. Further leads to yes, with cost negative $2,000,000 and then leads to Great, Fair, and Awful with sales volume 1,074,000. Great leads the Probability: 45.0 percent; Net revenue: $10,800,000 with return Probability: 36.0 percent; Net revenue: 4,800,000. Fair leads the Probability: 35.0 percent; Net revenue: $5,400,000 with return Probability: 28.0 percent; Net revenue: negative 600,000. Awful leads the Probability: 20.0 percent; Net revenue: $1,620,000 with return Probability: 16.0 percent; Net revenue: negative 4,380,000. The precision tree starts from new product design leads to the probability node no, if it is false, the cost is 0 with return probability 0.0 percent; Net revenue: $0.  If the technological success leads to no with the probability 20.0 percent with return probability: 20.0 percent; Net revenue: negative 4,000,000. If the market product leads to no, if it is false, the cost is with return probability: 0.0 percent; Net revenue: negative 4,000,000.
]
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